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Handrails, guardrails,
standpipe protections, ladder,
etc. are not allowed to overlap
door clearances

All doors in the stair shafts
shall have door maneuvering
clearances (ICC Section
404.2.4.1)

Extend handrail 12" past top
and bottom raiser.
At intermediate flight of stairs
only the handrail attached to
the wall is required

42" A.F.F. guardralil
(IBC Section 1015.3)

Where the vertical clearance is
less than 80 inches a vertical
barrier shall be provided (ICC
Section 307.4)

36" A.F.F. handrail
(IBC Section 1014.2)
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Verify in section that the ladder is
clearing the guardrail height

Handrails, guardrails, standpipe
protections, ladder, etc. are not
allowed to overlap door clearances

All the doors in the stair's shaft shall
have door maneuvering clearances
(ICC Section 404.2.4.1)
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36" A.F.F. continuous handrail
at continuous stair flights

Turning radius starts at the
interior edge of the stair
stringer
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